(%ﬁ%6%%1$%%)
ﬁﬁ%ﬁ%ﬂiﬁhé

—

f 74 4H30R

METHSHER
4 B EX &

(HEEA) =

THOFEREEDHRN RS =

METHESBHEBR ORI 54015 6 48 | HOREICESE . FEOLEY
D6 FEBBEBRICH S INTHEEL R LT

1 ¥ A BEE R 960, 000 H

2 x H
B & @\ |
A BE R =
o & ® 67, 740 H
7N S 657, 800 M
VN S M
B - BIFEDR M
= B B =
' OoBE R B 34, 756 H
EECl SVNE- 10, 200 M
HOE R OB 71, 938 H
= Ft 842, 434 [
3 B 4 117, 566 M

4 BEEE EREEIEHE. ERELOMmIERES




THICHFE BBEHENIHEE IHEHRAR

BMEE FE M B

<WHEE>

2! B BOHE BB I L8 () ] &l
HHEE (14) 67,740

=1 &t 67,740
<IL#ERE>

A = HHEHEIT L (M) & =
R EENRIE 657,800

a g 657,800
<EFHIERE >

A = KA ERE T L5 (M) ] =
& 1,780
EEHBBRBAE 9,160 |FEHES1/2
ME 23,816

=] } 34,756
<EBEHBAE>

A PN HSEHEFLE M) & =

—_— WL EDBZEICED. 1A DEEH 53,0000

bl 090 i o) 22 UE A L,
EEBAE 3,300

=) g 10,200
<FRAEHRE>

- A = BES B % 428 (M) & =

BEE (BERSE) 16,719 |BRED1/4%F S, 1»ADOLRIZ1FH,
HlRHE (HVIo~E) 55219 (BED1/4%K 4, 1 hADERIZ1FH,

=1 it 71,938
BB EHEFT NS 842,434




